
SAP ABAP table P05TPRNL_EE_IRP {Pension Return: Income Relationship # Income Period - Pers L}

P05TPRNL_EE_IRP

MANDT [CLNT (3)]

APPL [CHAR (4)]

JUPER [CHAR (4)]

WERKS [CHAR (4)]

REGYR [NUMC (4)]

REGPE [NUMC (2)]

SEQNO [NUMC (4)]

REPTP [CHAR (1)]

PERNR [NUMC (8)]

BEGDA_IR [DATS (8)]

BEGDA_IP [DATS (8)]

CAOCL [NUMC (4)]

OCCOD [NUMC (4)]

T000

MANDT [CLNT (3)]
 P05TPRNL_EE_IRP-MANDT = T000-MANDT 

0..N

1

T500P

MANDT [CLNT (3)]

PERSA [CHAR (4)]
 P05TPRNL_EE_IRP-WERKS = T500P-PERSA 0..N

1

T596A

MANDT [CLNT (3)]

MOLGA [CHAR (2)]

APPL [CHAR (4)]

 P05TPRNL_EE_IRP-APPL = T596A-APPL 
0..N0..N

T5N73

MANDT [CLNT (3)]

CAOCL [NUMC (4)]

ENDDA [DATS (8)]

 P05TPRNL_EE_IRP-CAOCL = T5N73-CAOCL 

0..N

1

T77PRNL_OCC

MANDT [CLNT (3)]

OCCOD [NUMC (4)]

ENDDA [DATS (8)]

 P05TPRNL_EE_IRP-OCCOD = T77PRNL_OCC-OCCOD 

0..N

1


